Body:

VIN:-

Honda Accord - VI

Years.:1999-2002; V:all
TYPE :9.384

1. Disassemble the skid plate to component parts.

2. Fix element “1" to apertures in the front part of the car frame
with bolts M 10x100 and straps SD3003 -(A).

3. Fix corbel using regular bolt, located near muffler's tube fixing

Point, for additional support of the rear beam of the skid plate
).

(B)

4. Fix the rear beam of the skid plate so, that joint-pins, located
on hs beam, it sparures o e carframe, and then i the
beam with bolts M 10x30 and hold downs -(C).

5. Fix the skid plate to mounted element ”1" ‘with bolts M 8x20 -
(D) and to installed beam with bolts M 10x20 -(E).

6. Tighten all screw joints.

Hold down

MB20
M 10x20
M 10x30
M 10x100

1% Rear beam
2x  65x2020-SD3003




